NAME
MATH 2401 PRACTICE QUIZ 2

1 For the function f whose graph is given, state the value of the given quantity, if it
exists.

() lim f(z)=
@ lim f(z) =
®  limf(z) =
@ lim f(z) =

4]

2. Show that lim
r—4 r —

1 dose not exist without using a graph.



2t -22+2 ifx#£1l
Letf(x)_{—?) ifo =1
@  Find £(1).

() Findlim/(x).

3 Isthe function continuous at x = 1? Justify you answer without using a
graph.

Click here for the answers
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1 For the function f whose graph is given, state the value of the given quantity, if it
exists.

@  lim f(z) = -1

r——1"

2 lim f(z) = does not exist

r——1

® limf(z) =3
@ lim f(a) =1

|z — 4]

2. Show that lim 1 dose not exist without using a graph.

r—4 r —
. —4 . —(x—14 .
Ilm‘x |:IlmL:hm(—l)z—l
z—4- x —4 z—4- x —4 r—4-

. —4 . —4 .
Atso. tim 2= _yim T iy =
z—4t . — 4 r—4tx — 4 r—4t

. —4 . —4
Since IImM:—I;&I:IIm i ‘,
z—4- . —4 z—at x —4

|z —A4 :
lim does not exist.
r—4 r —




r?—-20+2 ifz#1
3 ifz=1
).
(

1) =-3

Lot (0= { *
(1)  Find f(1
f
(@  Findlimf(z).

lim f(x) :IirPf(x2—2x+2) =1?-2-1+2=1

r—1- T—

lim f(x) =7]Lr{1+(x2 —2r+2)=12-2-1+2=1

r—1t

Thus, IIr{]if(x) =1= Iirﬂf(x), and so |Irqf(:13) =1

3 Isthe function continuous at x = 1? Justify you answer without using a
graph.

Since f(1) = =3 # 1xflf(x), the function is not continuous

atx = 1.



	uh.edu
	q2f00Ans


